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SHE X 2 A AL (REA) 64,040 64,390 350
101 2124t 13,780 13,790 A10
04 JRAM2ERHS 24 13,780 13,790 A10
SEENELES 13,780
-J1=23 50,0002 %2102 *1% 10,500
—=xg 50,0008 #4275 +1% 2,100
—oiRtag 50,0008 102 *1% 500
—2bAlH| 3,000 %2102 *12 630
SRR D= 50,0002 1% 50
201 Ypre | 6,360 6,100 260
01 At2elt| 4,360 3,600 760
OpragH| 1,810
—SUREAGEE A AR
1002 *9, 00004 900
— St X 2 & IR A 70,0002 * 1374 910
ofY+g 2,550
&g 2na 35,0008 *603] 2,100
—stgsotma 50,0002 *33] 450
02 ZZSIH| 2,000 2,500 A500
OBt EAIIIIR XL 200, 0002 105 2,000
307 2I2H0| & 43,900 43,900 0
01 el2x Rzl 43,900 43,900 0
Ot g ootE 1 40,000
Ot &2 JI Xt 25,0002 « 135 12K £ 3,900
#HS ALY (AL D) 9,516 98,804 ~2,288
| =2l 9,516 98,804 12,288
1= B (XHH) 9,516 98,804 12,288
201 Yer2ey| 19,656 19,464 192
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A 2
Mu: ENSeA (2D
&2l Jl=3Hl (e E2
B . M. CHe (5 SALO] . THA 2 Al OH HEE =2}
01 AtR2t2ldl 19,656 19,464 192
Oger=2H| 19,656
—2A2g0|122Z 4| 19,656
202 O4H| 72,600 73,080 A480
01 =LA bI 46,200 41,880 4,320
O=WAHYI 46,200
02 SHOHHI 26,400 31,200 A4,800
O HHHI 26,400
203 R F&d| 4,260 4,260 0
04 EA2IZRFEHI 4,260 4,260 0
OSSR 4,260
HeEs(220) 53,650 2,250 51,400
BEXNE 53,650 2,250 51,400
BEXE(XA) 53,650 2,250 51,400
802 Btat3aJ|Et 53,650 2,250 51,400
01 = 12X 3EtE=z 43,350 1,500 41,850
Og o2& &l 20,600
OXIHXI = 22l bl 22,000
OZZHU LAY AEH S 2eld] 750
02 Al - SHIEXZS3Eta3 10,300 750 9,550
Og o2& &l 10,300
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